CURRICULUM COMPENSATION

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL AFTER SCHOOL TUTORING ACTIVITIES FOR THE 2023-24 SCHOOL YEAR ONLY, \$35.57 PER HOUR (23-24): (10-1100-0000-1341-498-4)

Durbin, Lori

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 30, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-0600-1341-535-4)

Mann, Jennifer

Woodson, Matthew

Marcy, Elizabeth

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MAY 28, 2024, \$35.57 PER HOUR, 6 HOURS FOR A TOTAL OF \$213.42 EACH: (10-2210-0600-1341-535-4)

Antonacci, Abigail Marcy, Elizabeth Baker, Brandon Miller, Latasha Divjak, Leann Nolting, Jenny Kwedar, Rebecca Vogel, Brianne

Lipka, Carrie

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JUNE 3, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0600-1341-535-4)

Kwedar, Rebecca Taylor, Christina

Nolting, Jenny

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES FEBRUARY 21, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES FEBRUARY 29, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES MARCH 5, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES MARCH 20, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES APRIL 10, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES APRIL 18, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 29, 2024, \$35.57 PER HOUR: (10-2210-0800-1341-535-4)

Baldin, Jennifer	5.00 hours	\$177.85
Dwyer, Rachael	4.00 hours	142.28
Fox, Kathleen	4.00 hours	142.28
Hustedt, Isaac	4.00 hours	142.28
Kahl, Lindsay	4.00 hours	142.28
Vespa, Lindsay	4.00 hours	142.28

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES MAY 3, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ENOS ELEMENTARY SCHOOL CO-TEACHING PLANNING ACTIVITIES MAY 14, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0700-1341-531-4)

Holler, Melinda

Joyner, Abbie

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JUNE 6, 2024, \$35.57 PER HOUR: (10-2210-0800-1341-535-4)

Foster, Carmelita	5.00 hours	\$177.85
Hustedt, Isaac	2.00 hours	71.14
Kahl, Lindsay	2.00 hours	71.14
Quandahl, Erica	5.00 hours	177.85
Vespa, Lindsay	5.00 hours	177.85

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES JUNE 10, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0800-1341-535-4)

Moore, Lori

Vespa, Lindsay

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JUNE 6, 2024, \$35.57 PER HOUR, 5.5 HOURS FOR A TOTAL OF \$195.64: (10-2210-0800-1341-535-4)

Baldin, Jennifer

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JUNE 11, 2024, \$35.57 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$88.93 EACH: (10-2210-0800-1341-535-4)

Moore, Lori

Vespa, Lindsay

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 8, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Capranica, Amy

Hustedt, Isaac

XIX RECOMMEND APPROVAL OF THE FOLLOWING **CERTIFICATED** PERSONNEL FOR **FAIRVIEW ELEMENTARY** SCHOOL **SCHOOL IMPROVEMENT** BACKWARDS PLANNING **ACTIVITIES** MAY THROUGH MAY 24, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0800-1341-535-4)

Foster, Carmelita Seaver, Christine Hustedt, Isaac Vespa, Lindsay Kahl, Lindsay

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES MAY 20, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-0800-1341-535-4)

Brillhart, Sarah Moore, Lori Capranica, Amy Quandahl, Erica Daley, Melinda Vespa, Lindsay

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 9, 2024, \$35.57 PER HOUR: (10-2210-0800-1341-535-4)

 Kahl, Lindsay
 2.00 hours
 \$71.14

 Moore, Lori
 4.00 hours
 142.28

 Vespa, Lindsay
 4.00 hours
 142.28

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 8, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-0800-1341-535-4)

Capranica, Amy

Hustedt, Isaac

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 22, 2024, \$35.57 PER HOUR: (10-2210-0800-1341-535-4)

Baldin, Jennifer	2.50 hours	\$88.93	
Fox, Kathleen	1.50 hours	53.36	
Hustedt, Isaac	1.50 hours	53.36	
Vespa, Lindsay	1.50 hours	53.36	

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MAY 20, 2024, \$35.57 PER HOUR: (10-2210-0900-1341-535-4)

Barrett, Caitlin	2.50 hours	\$88.93
Biggs, Brian	2.00 hours	71.14
Copp, Deborah	2.50 hours	88.93
Craig, Jonathon	2.50 hours	88.93
Dwyer, Stephen	2.50 hours	88.93
Freeman, Tina	1.50 hours	53.36
Garman, Jeffrey	2.50 hours	88.93
Lenhardt, Kyle	2.50 hours	88.93
Martin, Alexandra	2.50 hours	88.93
Scott, Tyra	1.50 hours	53.36
Sponsler, Alisa	2.50 hours	88.93

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL PLANNING ACTIVITIES JUNE 11, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-1100-1341-531-4)

Kurz, Amy Mack, Jeanie

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL BBSS PLANNING ACTIVITIES MAY 29, 2024, \$35.57 PER HOUR, 7 HOURS FOR A TOTAL OF \$248.99 EACH: (10-2210-4331-1341-534-4)

Anderson, Michael Pochynok, Kelli
Cookson, Lelah Redfield, Alicia
Hunsley-Hunt, Stephanie Scott, Wendy
Iaiennaro, Trisha Stubblefield, Brandy
Jackson, Terrelle Thompson, Erica
Morrison, Alexis Vargas, Jennifer

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HAZEL DELL ELEMENTARY SCHOOL PLANNING ACTIVITIES JUNE 10, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-1100-1341-531-4)

Bell, Charlotte

Mack, Jeanie

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES MAY 17, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Detmers, Erica

Kincaid, Jessica

Garrett, Olivia

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES MAY 10, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Detmers, Erica

Kincaid, Jessica

Garrett, Olivia

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES MAY 3, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Detmers, Erica Harris, Nicolette
Garrett, Olivia Kincaid, Jessica

Gully, Geneka

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES APRIL 26, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Detmers, Erica Kincaid, Jessica Garrett, Olivia Stewart, Shelley

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY PLANNING ACTIVITIES APRIL 22, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28: (10-2210-2300-1341-531-4)

Rhodes, Lindsey

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES APRIL 19, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Bahlmann, Dara Kincaid, Jessica Detmers, Erica Stewart, Shelley

Garrett, Olivia

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES APRIL 12, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Bahlmann, Dara Harris, Nicolette Detmers, Erica Kincaid, Jessica Garrett, Olivia Stewart, Shelley

XXXVRECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES MARCH 28, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Bahlmann, Dara Ginsberg, Rachel
Delong, Michele Harris, Nicolette
Detmers, Erica Kincaid, Jessica
Garrett, Olivia Stewart, Shelley

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MATHENY/WITHROW PLANNING ACTIVITIES MARCH 22, 2024 THROUGH MARCH 22, 2024, \$35.57 PER HOUR, .5 HOURS FOR A TOTAL OF \$17.79 EACH: (10-2210-4331-1341-534-4)

Bahlmann, Dara Harris, Nicolette
Delong, Michele Kincaid, Jessica
Detmers, Erica Stewart, Shelley

Garrett, Olivia

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR MCCLERNAND ELEMENTARY SCHOOL BBSS RETREAT PLANNING ACTIVITIES JUNE 5, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-1900-1341-531-4)

Danner, Sarah Smith, Kelsie

Dill-Prusak, Megan Tomasko, Kimberly

Harris, Hannah

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL ILT PLANNING ACTIITIES JUNE 7, 2024, \$35.57 PER HOUR, 6 HOURS FOR A TOTAL OF \$213.42 EACH: (10-2210-2300-1341-531-4)

Dukett, Jennifer Tennant, Mary Kircher, Megan Walker, Amy

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL LITERACY PLANNING ACTIVITIES MAY 23, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-2300-1341-531-4)

Barnard, Rachel Kircher, Megan
Callahan, Steven Lamantia, Ashley
Chasco, Amber Mead, Nena
Dockter, Emily Nunn, Jelinda
Dukett, Jennifer Rahman, Asima
Jackson, Ashton Walker, Amy

Johnson, Marissa

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 28, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-2300-1341-531-4)

Chasco, Amber Kircher, Megan Hartman, Linda Rhodes, Lindsey

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 24, 2024 THROUGH MAY 24, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-2300-1341-531-4)

Chasco, Amber Kircher, Megan Hartman, Linda Rhodes, Lindsey

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL SCIENCE PLANNING ACTIVITIES JUNE 5, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-4331-1341-534-4)

Allen, Laura Hunsley-Hunt, Stephanie

Goff, Donald Sammons, Amber

Goff, Melissa

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL APTT ACTIVITIES MAY 16, 2024, \$35.57 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$88.93 EACH: (10-2210-2300-1341-531-4)

Callahan, Steven Lacamera, Kathryn Chasco, Amber Lamantia, Ashley Dockter, Emily Mead, Nena Dukett, Jennifer Nunn, Jelinda Eck, Lindsay Oglesby, Jennifer Przekurat, Alex Flanagan, Kathy Hartman, Linda Rahman, Asima Hays, Robyn Raynolds, Amy Jackson, Ashton Rhodes, Lindsey Johnson, Marissa Walker, Amy

Kircher, Megan

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 17, 2024 THROUGH MAY 17, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-2300-1341-531-4)

Chasco, Amber Kircher, Megan Hartman, Linda Rhodes, Lindsey

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL BBSS RETREAT PLANNING ACTIVITIES JUNE 6, 2024, \$35.57 PER HOUR, 6.5 HOURS FOR A TOTAL OF \$231.21 EACH: (10-2210-2600-1341-531-4)

Corley, Elizabeth Sharpe, Jennifer

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL SCHEDULING PLANNING ACTIVITIES MAY 16, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-2600-1341-531-4)

Rotherham, Pam Schukai, Melissa

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 17, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Nestler, Tena

Roark, Heather

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL ILT RETREAT PLANNING ACTIVITIES MAY 31, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-4331-1341-534-4)

Bluhm, Wendy Mcdowell, Toni Israel, April Netznik, Melissa Kent, Jena Norton, Heather Love, Brenna Wilson, Krista

Martin, Bailey

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT MATH PLANNING ACTIVITIES MARCH 19, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-3800-1341-535-4)

Durbin, Lori Roark, Heather

Nestler, Tena

L RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 9, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Dold, Jena Langen, Natasha

LI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 10, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Dold, Jena Stoll, Nicole

LII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT MATH PLANNING ACTIVITIES MARCH 19, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-3800-1341-535-4)

Durbin, Lori Roark, Heather

Nestler, Tena

LIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 15, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Dold, Jena

Langen, Natasha

LIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 9, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Dold, Jena

Langen, Natasha

LV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 10, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-3800-1341-535-4)

Dold, Jena

Stoll, Nicole

LVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES APRIL 10, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3800-1341-535-4)

Durbin, Lori

Roark, Heather

Nestler, Tena

LVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL BBSS PLANNING ACTIVITIES MAY 31, 2024, \$35.57 PER HOUR, 7 HOURS FOR A TOTAL OF \$248.99 EACH: (10-2210-4331-1341-534-4)

Beckman, Christine Pochynok, Kelli Cookson, Lelah Redfield, Alicia Fisher, Carl Sammons, Amber Hunsley-Hunt, Stephanie Scheffers, James Iaiennaro, Trisha Scott, Wendy Leach, Dylan Thompson, Erica

Morrison, Alexis

LVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES APRIL 9, 2024, \$35.57 PER HOUR, 1 HOUR FOR A TOTAL OF \$35.57 EACH: (10-2210-3800-1341-535-4)

Campbell, Melissa Mitchell, Shanna Dold, Jena Nestler, Tena

Jones, Theresa Parkinson, Vanessa Lantz, Andrew Parks, Victoria Lee, Sabrina Schaver, Maire

LIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT BBSS PLANNING ACTIVITIES MAY 29, 2024, \$35.57 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$124.50 EACH: (10-2210-4100-1341-535-4)

Blankenship, Autumn Zimmers, Layne

LX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT DATA REVIEW ACTIVITIES JUNE 3, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-4200-1341-535-4)

Bisby, Amy Romer, Gina Erickson, Carlie Silveri, Tracy

LXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES MAY 31, 2024, \$35.57 PER HOUR, 8 HOURS FOR A TOTAL OF \$284.56 EACH: (10-2210-4200-1341-535-4)

Barnard, Angela Silveri, Tracy

Reed, Jennifer

LXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BENCHMARK TRAINING ACTIVITIES MAY 7, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-4600-1341-535-4)

Crumrine, Carrie Rajsky, Heidi
Farthing, Josh Schoedel, William
Graham, Brianna Shively, Lydia
Nachtwey, Kristin White, Jerome

LXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEITSHANS ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES APRIL 29, 2024, \$35.57 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$53.36 EACH: (10-2210-4600-1341-535-4)

Bryant, Sydney Floyd, Alaxandria
Butler, Allory Patterson, Jami
Ericson, Stacey Spencer, Horazina
Ethridge-Galloway, Tiffany Volk, Rachel

LXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LANPHIER HIGH SCHOOL SCIENCE PLANNING ACTIVITIES JUNE 6, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-4331-1341-534-4)

Allen, Laura Goff, Melissa Goff, Donald

LXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SPEECH LANGUAGE PATHOLOGIST DECEMBER THRU MAY MEDICAID BILLING ACTIVITIES MAY 1 THROUGH JUNE 5, 2024, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

5.00 hours	\$62.15 Per Hour	\$310.75
5.00 hours	\$53.68 Per Hour	268.40
4.25 hours	\$75.75 Per Hour	321.94
8.25 hours	\$66.93 Per Hour	552.17
4.75 hours	\$42.38 Per Hour	201.31
4.00 hours	\$65.25 Per Hour	261.00
5.00 hours	\$53.68 Per Hour	268.40
5.00 hours	\$75.75 Per Hour	378.75
5.00 hours	\$56.52 Per Hour	282.60
1.50 hours	\$75.75 Per Hour	113.63
3.50 hours	\$66.93 Per Hour	234.26
5.00 hours	\$75.75 Per Hour	378.75
3.00 hours	\$45.21 Per Hour	135.63
10.00 hours	\$58.00 Per Hour	580.00
3.50 hours	\$56.52 Per Hour	197.82
5.00 hours	\$74.69 Per Hour	373.45
15.00 hours	\$42.38 Per Hour	635.70
3.00 hours	\$64.98 Per Hour	194.94
	5.00 hours 4.25 hours 8.25 hours 4.75 hours 4.00 hours 5.00 hours 5.00 hours 1.50 hours 3.50 hours 3.00 hours 1.00 hours 1.00 hours 1.50 hours 1.50 hours	5.00 hours\$53.68 Per Hour4.25 hours\$75.75 Per Hour8.25 hours\$66.93 Per Hour4.75 hours\$42.38 Per Hour4.00 hours\$65.25 Per Hour5.00 hours\$53.68 Per Hour5.00 hours\$75.75 Per Hour5.00 hours\$75.75 Per Hour1.50 hours\$75.75 Per Hour3.50 hours\$66.93 Per Hour5.00 hours\$75.75 Per Hour3.00 hours\$45.21 Per Hour10.00 hours\$58.00 Per Hour3.50 hours\$56.52 Per Hour5.00 hours\$74.69 Per Hour15.00 hours\$42.38 Per Hour

Medicaid Billing Activities May 1 Through June 5, 2024, For Rate Specified, cont.

Ohl, Stephanie	3.00 hours	\$52.26 Per Hour	156.78
Plunkett, Cara	5.00 hours	\$53.68 Per Hour	268.40
Reitz, Laura	5.00 hours	\$64.98 Per Hour	324.90
Rouland, Jill	3.50 hours	\$63.57 Per Hour	222.50
Sanberg, Kathryn	5.00 hours	\$49.66 Per Hour	248.30
Swierkosz, Beth	25.75 hours	\$73.62 Per Hour	1,895.72
Vice, Morgan	5.00 hours	\$43.79 Per Hour	218.95

LXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES SOCIAL WORK MARCH THROUGH MAY MEDICAID BILLING ACTIVITIES MAY 10 THROUGH MAY 28, 2024, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Bolt, Anna	3.00 hours	\$74.69 Per Hour	\$224.07
Dwyer, Rachael	9.00 hours	\$66.93 Per Hour	602.37

LXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES PSYCHOLOGIST JANUARY THROUGH MAY MEDICAID BILLING ACTIVITIES MAY 26 THROUGH MAY 27, 2024, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Eck, Lindsay	3.00 hours	\$72.55 Per Hour	\$217.65
Mever, Erin	1.25 hours	\$70.42 Per Hour	88.03

LXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES LEE SCHOOL CPI INSTRUCTIONAL ACTIVITIES NOVEMBER 29 THROUGH DECEMBER 6, 2023, \$35.57 PER HOUR, 5.5 HOURS FOR A TOTAL OF \$195.64 EACH: (10-1200-6220-1165-000-0)

Burton, Emily Epley, Karen

LXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES MAY CPI INSTRUCTIONAL ACTIVITIES MAY 7 THROUGH MAY 14, 2024, \$35.57 PER HOUR, 8 HOURS FOR A TOTAL OF \$284.56 EACH: (10-1200-6220-1165-000-0)

Dwyer, Rachael

LXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES APRIL CPI INSTRUCTIONAL ACTIVITIES APRIL 18 THROUGH APRIL 25, 2024, \$35.57 PER HOUR, 8 HOURS FOR A TOTAL OF \$284.56 EACH: (10-1200-6220-1165-000-0)

Burton, Emily

Epley, Karen

LXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START PORTFOLIO HOURS THIRD TRIMESTER MAY 8 THROUGH MAY 15, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-6431-1341-481-4)

Becker, Brooke Simmons, Sara
Burk, Jennifer Smith, Janette
Gray, Nicole Ziccarelli, Andrea

Loken, Susan

LXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID LEAD AND COORDINATOR ACTIVITIES APRIL 2 THROUGH MAY 24, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Bluhm, Wendy	2.50 hours	\$88.93
Cuzzort, Samantha	10.00 hours	355.70
House, Elizabeth	4.50 hours	160.07
Jimerson, Angela	8.50 hours	302.35
Lantz, Andrew	1.00 hours	35.57
Rennison, Laura	2.00 hours	71.14
Terrell, Temary	5.00 hours	177.85
Tribler, Kimberly	10.00 hours	355.70
Walker, Amy	4.00 hours	142.28
Wallner, Jennifer	14.00 hours	497.98
Zaffiri, Alise	10.00 hours	355.70

LXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PROFESSIONAL GROWTH SYSTEMS MEETING MAY 29, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Craner, Serena Daley, Melinda Erickson, Carlie Impson, Jamie Rockwell, Jennifer LXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BACKWARDS PLANNING MAY 31, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-0000-1341-564-4)

Bartolomucci, Dena Phillips, Suzanne Hockenyos, Karen Senger, Kristin Nelson, Courtney

LXXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY BBSS SUMMER PLANNING JUNE 6, 2024, \$35.57 PER HOUR, 2 HOURS FOR A TOTAL OF \$71.14 EACH: (10-2210-0000-1341-564-4)

Bartletti, Jennifer Hays, Megan
Bartolomucci, Dena Isaacks, Susan
Beck, Melissa Kim, Whitney
Freer, Jordana Milnes, Karen
Godefroid, Amie Williams, Jayda

LXXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL MYPERSPECTIVES CURRICULUM TRAINING MAY 28 THROUGH MAY 29, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Agans, Nicole	7.00 hours	\$248.99
Becker, Libby	9.00 hours	320.13
Beckler, Melissa	9.00 hours	320.13
Beebe, Lisa	9.00 hours	320.13
Burgar, Nikki	9.00 hours	320.13
Copp, Deborah	9.00 hours	320.13
Crow, Cynthia	3.00 hours	106.71
Flanagan, Heather	9.00 hours	320.13
Fleming, Susan	9.00 hours	320.13
Freeman, Tina	9.00 hours	320.13
Furkin, Ruth	9.00 hours	320.13
Gibbs, Katie	6.00 hours	213.42
Gilchrese, Tia	9.00 hours	320.13
Grace, Eileen	9.00 hours	320.13
Gwinn, Don	9.00 hours	320.13
Gwinn, Melissa	6.00 hours	213.42
Hayes, Stacey	6.00 hours	213.42
Holcomb, Beth	9.00 hours	320.13

Myperspectives Curriculum Training May 28 Through May 29, 2024, \$35.57 Per Hour, cont.

Kyes, Jessieca	9.00 hours	320.13
Ladage, Emma	9.00 hours	320.13
Lewis, Danielle	9.00 hours	320.13
Mccarthy, Caitlin	9.00 hours	320.13
Nesbit, Angie	9.00 hours	320.13
Pennington, Susan	9.00 hours	320.13
Powell, Donna	8.00 hours	284.56
Prather, Valerie	9.00 hours	320.13
Romer, Gina	9.00 hours	320.13
Rosa, Leslie	6.00 hours	213.42
Schatz, Katie	9.00 hours	320.13
Scheufele, Lori	9.00 hours	320.13
Schurman, Cecelia	9.00 hours	320.13
Sevener, Alayna	9.00 hours	320.13
Sheraden, Catherine	9.00 hours	320.13
Stearns, Katherine	9.00 hours	320.13

LXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION K-5 BENCHMARK ADOPTION CURRICULUM TRAINING MAY 28 THROUGH MAY 29, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Allen, Lisa	9.00 hours	\$320.13
Amerson, Megan	9.00 hours	320.13
Bartolomucci, Dena	9.00 hours	320.13
Beck, Melissa	9.00 hours	320.13
Berberet, Abigail	9.00 hours	320.13
Boehme, Amy	9.00 hours	320.13
Boyd, Lisa	6.00 hours	213.42
Brittain, Robyn	9.00 hours	320.13
Browning, Elizabeth	6.00 hours	213.42
Bryant, Sydney	9.00 hours	320.13
Burke, Evan	9.00 hours	320.13
Cano, Michelle	9.00 hours	320.13
Coe, Elizabeth	6.00 hours	213.42
Cook, Heather	9.00 hours	320.13
Covey, Heather	9.00 hours	320.13

Benchmark Adoption Curriculum Training May 28 Through May 29, 2024, \$35.57 Per Hour, Cont.

Cox, Heather	9.00 hours	320.13
Curtis, Michele	9.00 hours	320.13
Dabbs, Kathryn	9.00 hours	320.13
Davis, Holly	9.00 hours	320.13
Dill-Prusak, Megan	9.00 hours	320.13
Doss, Jessica	9.00 hours	320.13
Ericson, Stacey	9.00 hours	320.13
Ethridge-Galloway, Tiffany	9.00 hours	320.13
Faloon, Aidan	9.00 hours	320.13
Frank, Kristine	9.00 hours	320.13
Frech, Jane	9.00 hours	320.13
Freer, Jordana	9.00 hours	320.13
Gilmore, Elizabeth	9.00 hours	320.13
Godefroid, Amie	9.00 hours	320.13
Grieme, Nathan	9.00 hours	320.13
Hardas, Lisa	9.00 hours	320.13
Harpring, Nancy	9.00 hours	320.13
Hays, Megan	9.00 hours	320.13
Hockenyos, Karen	3.00 hours	106.71
House, Elizabeth	9.00 hours	320.13
House, Mikaila	9.00 hours	320.13
Hummert, Julie	9.00 hours	320.13
Jefferson, Mia	9.00 hours	320.13
Johannes, Madison	9.00 hours	320.13
Jones, Erika	9.00 hours	320.13
Jurgens, Mary	9.00 hours	320.13
Kent, Kyle	9.00 hours	320.13
Kiser-Gruen, Nicole	6.00 hours	213.42
Lafountain, Taunja	9.00 hours	320.13
Lightfoot, Stephanie	9.00 hours	320.13
Lueking, Mary	9.00 hours	320.13
Madonia, Melinda	3.00 hours	106.71
Mahan, Eva	9.00 hours	320.13
Mccord, Marguerite	6.00 hours	213.42
Mcguire, Tracy	9.00 hours	320.13
Milliman, Kathryn	6.00 hours	213.42
Milnes, Karen	9.00 hours	320.13

Benchmark Adoption Curriculum Training May 28 Through May 29, 2024, \$35.57 Per Hour, Cont.

9.00 hours	320.13
9.00 hours	320.13
6.00 hours	213.42
9.00 hours	320.13
	9.00 hours

LXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SANDBURG BBSS SUMMER PLANNING MAY 29, 2024, \$35.57 PER HOUR, 6 HOURS FOR A TOTAL OF \$213.42 EACH: (10-2210-0000-1341-564-4)

Boyd, Lisa Jackson, Sabrina
Burke, Amy Jugan, Ryan
Childers, Tiffany Nichols, Ellen
Decker, Taylor Price, Jessica
Guikema, Lindsay Weekley, Cara

LXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HAZEL DELL 4TH AND 5TH GRADE READING, WRITING, AND ELA PLANNING JANUARY 11 THROUGH MAY 16, 2024, \$35.57 PER HOUR, 28.75 HOURS FOR A TOTAL OF \$1,022.64: (10-2210-0000-1341-564-4)

Warren, Lillian

LXXX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 28, 2024, \$16.72 PER HOUR, 1 HOUR FOR A TOTAL OF \$16.72 EACH: (10-2210-2300-1341-531-4)

LXXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY BUILDING MATH LEADER STIPEND FEBRUARY 20 THROUGH MAY 24, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Allen, Lisa	1.00 Stipend	\$87.75 Per Hour	\$87.75
Baldin, Jennifer	1.00 Stipend	\$341.25 Per Hour	341.25
Bremer, Traci	1.00 Stipend	\$110.50 Per Hour	110.50
Bryant, Sydney	1.00 Stipend	\$117.00 Per Hour	117.00
Burke, Evan	1.00 Stipend	\$325.00 Per Hour	325.00
Cantrell, Kenda	1.00 Stipend	\$325.00 Per Hour	325.00
Capranica, Amy	1.00 Stipend	\$295.75 Per Hour	295.75
Dabbs, Kathryn	1.00 Stipend	\$87.75 Per Hour	87.75
Edmonds, Meghan	1.00 Stipend	\$325.00 Per Hour	325.00
Friday, Jessica	1.00 Stipend	\$65.00 Per Hour	65.00
George, Cynthia	1.00 Stipend	\$295.75 Per Hour	295.75
Godefroid, Amie	1.00 Stipend	\$117.00 Per Hour	117.00
Graham, Brianna	1.00 Stipend	\$308.75 Per Hour	308.75
Guikema, Lindsay	1.00 Stipend	\$29.25 Per Hour	29.25
Lafountain, Taunja	1.00 Stipend	\$325.00 Per Hour	325.00
Logsdon, Alicia	1.00 Stipend	\$198.25 Per Hour	198.25
Love, Brenna	1.00 Stipend	\$591.50 Per Hour	591.50
Mcdowell, Toni	1.00 Stipend	\$22.75 Per Hour	22.75
Mead, Nena	1.00 Stipend	\$58.50 Per Hour	58.50
Mitchell, Shanna	1.00 Stipend	\$117.00 Per Hour	117.00
Perry, Whitney	1.00 Stipend	\$325.00 Per Hour	325.00
Poss, Nichole	1.00 Stipend	\$370.50 Per Hour	370.50
Rake-Davis, Christine	1.00 Stipend	\$325.00 Per Hour	325.00
Roher, Kortney	1.00 Stipend	\$325.00 Per Hour	325.00
Tarvin, Kandace	1.00 Stipend	\$117.00 Per Hour	117.00
Tonstad, Laura	1.00 Stipend	\$377.00 Per Hour	377.00
Williams, Kauntessa	1.00 Stipend	\$45.50 Per Hour	45.50

LXXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID MATHENY RELATIONAL CAPACITY MAY 14, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Casey, Blessing	2.25 hours	\$80.03
Logsdon, Thomas	0.75 hours	26.68
Meyer, Heather	0.75 hours	26.68
Williams, Kauntessa	0.75 hours	26.68
Young, Jennifer	0.75 hours	26.68

LXXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY CLEARMATH DATA REVIEW JUNE 11, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-0000-1341-564-4)

Bartolomucci, Dena Nestler, Tena Beck, Melissa Nolting, Jenny Brady Hanken, Kathleen Phillips, Suzanne Callahan, Steven Pyle, Amy Schweska, Lisa Campbell, Lisa Ginsberg, Rachel Senger, Kristin Hays, Megan Taylor, Christina Tennant, Mary Kwedar, Rebecca Lafountain, Taunja Walk, Michelle Meyer, Heather

LXXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION DOUGLAS SUMMER ILT PLANNING JUNE 6, 2024, \$35.57 PER HOUR, 3 HOURS FOR A TOTAL OF \$106.71 EACH: (10-2210-0000-1341-564-4)

Cacciatori, Lisa Sales, Kaci
Cherrone, Emelie Shaon, Spring
Dickman, Barbara Swaggerty, Dawn

LXXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY BUILDING SCIENCE LEADER STIPEND FEBRUARY 20 THROUGH MAY 24, 2024, \$65.50 PER STIPEND, 1 STIPEND FOR A TOTAL OF \$65.50: (10-2210-0000-1341-564-4)

Meyer, Heather

LXXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ANNUAL DATA REVIEW MAY 30 THROUGH JUNE 7, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Baldin, Jennifer	6.00 hours	\$213.42
Barham, Ashley	6.00 hours	213.42
Beck, Melissa	6.00 hours	213.42
Bell, Charlotte	6.00 hours	213.42
Billington, Leah	6.00 hours	213.42
Bland, Rachel	6.00 hours	213.42
Bland, Steven	6.00 hours	213.42

Blankenship, Autumn	6.00 hours	213.42
Bowman, Ashley	6.00 hours	213.42
Bradley, Rechad	6.00 hours	213.42
Brady Hanken, Kathleen	6.00 hours	213.42
Brillhart, Sarah	6.00 hours	213.42
Buecker, Steve	6.00 hours	213.42
Buske, Sierra	6.00 hours	213.42
Cacciatori, Lisa	6.00 hours	213.42
Cano, Michelle	6.00 hours	213.42
Cantrall, Cassandra	6.00 hours	213.42
Capps, Gail	6.00 hours	213.42
Carder, Whitney	6.00 hours	213.42
Cook, Heather	5.00 hours	177.85
Coons, Roanna	6.00 hours	213.42
Cotner, Alysen	6.00 hours	213.42
Covey, James	6.00 hours	213.42
Cox, Heather	6.00 hours	213.42
Cripe, Jill	6.00 hours	213.42
Crow, Cynthia	6.00 hours	213.42
Crum, Milena	6.00 hours	213.42
Crumrine, Carrie	6.00 hours	213.42
Detmers, Erica	6.00 hours	213.42
Dickman, Barbara	6.00 hours	213.42
Divjak, Leann	6.00 hours	213.42
Dold, Jena	6.00 hours	213.42
Drennan, Emily	6.00 hours	213.42
Dukett, Jennifer	6.00 hours	213.42
Eaton, Deborah	6.00 hours	213.42
Eck, Lindsay	6.00 hours	213.42
Edmonds, Meghan	6.00 hours	213.42
Erickson, Carlie	6.00 hours	213.42
Ethridge-Galloway, Tiffany	6.00 hours	213.42
Faloon, Aidan	6.00 hours	213.42
George, Cynthia	6.00 hours	213.42
Gibbs, Katie	6.00 hours	213.42
Gray, Nicole	6.00 hours	213.42
Green, Allison	6.00 hours	213.42

	C 00 1	212.42
Greig, Anne	6.00 hours	213.42
Grendze, Carmen	6.00 hours	213.42
Grieme, Nathan	6.00 hours	213.42
Hardy, Angela	6.00 hours	213.42
Harris, Nicolette	12.00 hours	426.84
Harris, Sherry	6.00 hours	213.42
Hasquin, Jamie	6.00 hours	213.42
Hays, Robyn	6.00 hours	213.42
Hockenyos, Karen	6.00 hours	213.42
Hood, Heidi	6.00 hours	213.42
Hunsley-Hunt, Stephanie	6.00 hours	213.42
Jachino, Rachel	6.00 hours	213.42
Johnson, Kassandra	6.00 hours	213.42
Kent, Jena	6.00 hours	213.42
Kincaid, Jessica	6.00 hours	213.42
Kirkpatrick, Kody	6.00 hours	213.42
Kramer, Benjamin	6.00 hours	213.42
Kurz, Amy	6.00 hours	213.42
Kyes, Jessieca	6.00 hours	213.42
Lafountain, Taunja	6.00 hours	213.42
Lantz, Andrew	6.00 hours	213.42
Larson, Stacey	6.00 hours	213.42
Laub, Jill	6.00 hours	213.42
Lee, Sabrina	6.00 hours	213.42
Ligon, Tierra	6.00 hours	213.42
Logsdon, Thomas	6.00 hours	213.42
Mack, Jeanie	6.00 hours	213.42
Maley, Sarah	6.00 hours	213.42
Martin, Colleen	6.00 hours	213.42
Mccarthy, Caitlin	6.00 hours	213.42
Mclaughlin, Stacey	6.00 hours	213.42
Mitchell, Natalie	6.00 hours	213.42
Mitchell, Shanna	6.00 hours	213.42
Mitts, Jodi	6.00 hours	213.42
Nestler, Tena	6.00 hours	213.42
Netznik, Melissa	12.00 hours	426.84
,	-	

Nolting, Jenny	6.00 hours	213.42
Norton, Heather	6.00 hours	213.42
Parkinson, Vanessa	6.00 hours	213.42
Perry, Whitney	6.00 hours	213.42
Philbrick, Thomas	6.00 hours	213.42
Phillips, Suzanne	6.00 hours	213.42
Poss, Nichole	6.00 hours	213.42
Quandahl, Erica	6.00 hours	213.42
Riech, Allison	6.00 hours	213.42
Romer, Gina	6.00 hours	213.42
Sales, Kaci	6.00 hours	213.42
Schaefer, Bridget	6.00 hours	213.42
Schatz, Katie	6.00 hours	213.42
Scheffers, James	6.00 hours	213.42
Schmitt, Sara	6.00 hours	213.42
Schoedel, William	6.00 hours	213.42
Schoppenhorst, Debbie	6.00 hours	213.42
Schudel, Mark	6.00 hours	213.42
Schultz, Shatoiya	6.00 hours	213.42
Scott, Dawn	6.00 hours	213.42
Seiz, Anne	6.00 hours	213.42
Sekardi, Maria	6.00 hours	213.42
Shaon, Spring	6.00 hours	213.42
Sheraden, Catherine	6.00 hours	213.42
Silveri, Tracy	6.00 hours	213.42
Smith, Janette	6.00 hours	213.42
Standley, Emily	6.00 hours	213.42
Suerdieck, Cristina	6.00 hours	213.42
Taylor, Leslie	6.00 hours	213.42
Thomas, Sarah	6.00 hours	213.42
Totura, Jessica	6.00 hours	213.42
Vanderslik, Julie	6.00 hours	213.42
Vespa, Lindsay	6.00 hours	213.42
Vogel, Carolyn	6.00 hours	213.42
Volpert, Andrew	6.00 hours	213.42
Wallner, Jennifer	6.00 hours	213.42
Walls, Peter	6.00 hours	213.42

Walters, Amy	6.00 hours	213.42
Weitekamp, Crysta	6.00 hours	213.42
West, Erica	6.00 hours	213.42
Williams, Alyson	6.00 hours	213.42
Williams, Kauntessa	6.00 hours	213.42
Wilson, Krista	6.00 hours	213.42
Zaffiri, Alise	6.00 hours	213.42
Zentefis, Todd	6.00 hours	213.42

LXXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID TEAM PLANNING JUNE 6, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-0000-1341-564-4)

Allen, Lisa	Netznik, Melissa
Bland, Rachel	Nolting, Jenny
Bland, Steven	Patterson, Jami
Crumrine, Carrie	Purdy, Patricia
Dukett, Jennifer	Schoedel, William
Ethridge-Galloway, Tiffany	Tribler, Kimberly
Harris, Nicolette	Vogel, Brianne
Hood, Heidi	Vogel, Carolyn
Ingram, Cristi	Walker, Amy
Jackson, Ashton	Williams, Alyson
Kircher, Megan	Zaffiri, Alise
Kwedar, Rebecca	

LXXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION HIGH SCHOOL MATH BACKWARDS PLANNING MAY 28 THROUGH JUNE 4, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Adkins, David	2.00 hours	\$71.14
Allen, Devynn	2.00 hours	71.14
Biggers, James	6.00 hours	213.42
Bradley, Rechad	2.50 hours	88.93
French, Jasmine	5.50 hours	195.64
Gardner, Andrew	4.00 hours	142.28

High School Math Backwards Planning May 28 Through June 4, 2024, \$35.57 Per Hour

Hull, Brent	4.00 hours	142.28
Johnson, Rachel	15.00 hours	533.55
Mcdonald, Colleen	5.50 hours	195.64
Midiri, Frank	1.50 hours	53.36
Moldenhauer, Ryan	4.00 hours	142.28
Myers, Erin	6.00 hours	213.42
Slater, Toni	4.00 hours	142.28
Stevens, Joseph	2.00 hours	71.14
Urbanek, Elizabeth	2.00 hours	71.14
Wieneke, Monica	4.00 hours	142.28

LXXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY BUILDING SCIENCE LEADER STIPEND FEBRUARY 20 THROUGH MAY 24, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Aladesuyi, Adetoro	1.00 Stipend	\$58.50	\$58.50
Austin, Monique	1.00 Stipend	\$58.50	58.50
Brillhart, Sarah	1.00 Stipend	\$325.00	325.00
Gilbert, Rachel	1.00 Stipend	\$221.00	221.00
Mcquillan, Marilou	1.00 Stipend	\$587.25	587.25
Nunn, Jelinda	1.00 Stipend	\$16.25	16.25
Schweska, Lisa	1.00 Stipend	\$429.00	429.00
Williams, Kauntessa	1.00 Stipend	\$45.50	45.50
Wilson, Krista	1.00 Stipend	\$633.75	633.75
Wiseman, Melissa	1.00 Stipend	\$295.75	295.75

XC RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY BUILDING TECHNOLOGY LEAD STIPEND FEBRUARY 20 THROUGH MAY 24, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Covey, Heather	1.00 Stipend	\$275.00	\$275.00
Cripe, Jill	1.00 Stipend	443.75	443.75
Crum, Milena	1.00 Stipend	325.00	325.00
Ethridge-Galloway, Tiffany	1.00 Stipend	531.25	531.25
Flanagan, Kathy	1.00 Stipend	325.00	325.00
Floyd, Alaxandria	1.00 Stipend	650.00	650.00
Grieme, Nathan	1.00 Stipend	218.75	218.75

Technology Lead Stipend February 20 Through May 24, 2024, For Rate Specified, Cont.

Helton, Rachel	1.00 Stipend	325.00	325.00
Hirsch, Kelsea	1.00 Stipend	300.00	300.00
Langen, Natasha	1.00 Stipend	325.00	325.00
Lauer, Karianna	1.00 Stipend	400.00	400.00
Lueking, Mary	1.00 Stipend	325.00	325.00
Meyer, Heather	1.00 Stipend	343.75	343.75
Naumovich, Amanda	1.00 Stipend	87.50	87.50
Nolting, Jenny	1.00 Stipend	181.25	181.25
Pyle, Amy	1.00 Stipend	81.25	81.25
Rake-Davis, Christine	1.00 Stipend	250.00	250.00
Roher, Kortney	1.00 Stipend	310.50	310.50
Schwab, Stephanie	1.00 Stipend	350.00	350.00
Seiz, Anne	1.00 Stipend	112.50	112.50

XCI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL AND HIGH SCHOOL BUILDING TECHNOLOGY LEAD STIPEND APRIL 9 THROUGH MAY 24, 2024, \$631.25 PER HOUR, 1 HOUR FOR A TOTAL OF \$631.25: (10-2210-0000-1341-564-4)

Schaefer, Bridget

XCII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL AND HIGH SCHOOL BUILDING TECHNOLOGY LEADER STIPENDS APRIL 9 THROUGH MAY 24, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Boarman, Claire	1.00 Stipend	\$12.50	\$12.50
Craner, Brian	1.00 Stipend	281.25	281.25
Cuzzort, Samantha	1.00 Stipend	250.00	250.00
Dickman, Barbara	1.00 Stipend	204.25	204.25
Faires, Austin	1.00 Stipend	312.50	312.50
Havener, Michael	1.00 Stipend	350.00	350.00
Jachino, Rachel	1.00 Stipend	345.75	345.75
Kleinertz, Larresa	1.00 Stipend	250.00	250.00
Nesbit, Angie	1.00 Stipend	850.00	850.00

XCIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION FIRST YEAR TEACHER MENTORING HOURS 4TH QUARTER APRIL 8 THROUGH MAY 24, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Anders, Clare	2.75 hours	\$97.82
Armbruster, Justin	6.00 hours	213.42
Baker, Audrey	2.00 hours	71.14
Baker, Brandon	2.75 hours	97.82
Behnke, Joshua	1.00 hours	35.57
Biggers, James	1.00 hours	35.57
Borders, Nate	1.00 hours	35.57
Brinkley, Rita	1.00 hours	35.57
Buske, Sierra	0.50 hours	17.79
Coble, Bryan	3.00 hours	106.71
Cookson, Lelah	2.00 hours	71.14
Cullen, Kristin	2.00 hours	71.14
Eaton, Deborah	0.50 hours	17.79
Foehner, Whitley	1.00 hours	35.57
Fugnitti, Madison	1.25 hours	44.46
Gallina, Maria	1.00 hours	35.57
Gilmore, Elizabeth	1.25 hours	44.46
Grace, Eileen	1.00 hours	35.57
Green, Shelby	1.00 hours	35.57
Grendze, Carmen	2.00 hours	71.14
Grucza, Jordan	0.25 hours	8.89
Harness, Amanda	12.50 hours	444.63
Hawkshaw, Meghan	2.00 hours	71.14
Helton, Rachel	5.00 hours	177.85
Hunter, Brooke	1.00 hours	35.57
Jachino, Rachel	2.00 hours	71.14
Johannes, Madison	1.25 hours	44.46
Johnson Collins, Alyson	2.00 hours	71.14
Kantor, Kyler	2.00 hours	71.14
Kieffer, Shelley	4.00 hours	142.28
Kulavic, Tara	0.25 hours	8.89
Lanter, Adam	2.00 hours	71.14
Laub, Jill	2.00 hours	71.14
Layne, Danielle	13.25 hours	471.30
Ligon, Tierra	3.25 hours	115.60
Love, Brenna	1.00 hours	35.57

First Year Teacher Mentoring Hours April 8 Through May 24, 2024, \$35.57 Per Hour, Cont.

Martin, Bailey	1.00 hours	35.57
Martin, James	1.00 hours	35.57
Mccarthy, Caitlin	0.50 hours	17.79
Mceuen, Molly	0.50 hours	17.79
Meyer, Abbygail	2.25 hours	80.03
Miller, Latasha	1.25 hours	44.46
Milliman, Kathryn	5.00 hours	177.85
Nelson, Courtney	5.00 hours	177.85
Nika, Anthony	1.00 hours	35.57
Nishimoto, Bethany	3.00 hours	106.71
Poppenhouse, Leslie	3.00 hours	106.71
Raymond, Christopher	1.00 hours	35.57
Rosa, Leslie	1.00 hours	35.57
Rotherham, Pam	1.00 hours	35.57
Rothfus, Erin	0.50 hours	17.79
Scheffers, Morgan	2.25 hours	80.03
Schurman, Jennifer	6.00 hours	213.42
Selsor, Michelle	1.00 hours	35.57
Shuster, Nicholas	1.00 hours	35.57
Smith, Mckenzie	2.00 hours	71.14
Stanton, Susannah	3.00 hours	106.71
Tanner, Katie	1.00 hours	35.57
Tarvin, Kandace	5.00 hours	177.85
Vogt, Denise	0.50 hours	17.79
Willmore, Andrew	1.00 hours	35.57
Yockey, Lucille	0.50 hours	17.79
Ziemba-Montavon, Tammy	0.25 hours	8.89

XCIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION WORLD CAFE PROFESSIONAL DEVELOPMENT MAY 29, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-2)

Antonacci, Abigail	6.00 hours	\$213.42
Barnard, Rachel	6.00 hours	213.42
Bland, Rachel	6.00 hours	213.42
Brady Hanken, Kathleen	6.00 hours	213.42
Buske, Sierra	6.00 hours	213.42

World Cafe Professional Development May 29, 2024, \$35.57 Per Hour, cont.

Callahan, Steven	6.00 hours	213.42
Corder, Sara	6.00 hours	213.42
Crum, Milena	6.00 hours	213.42
Davis, Lisa	6.00 hours	213.42
Davis, Robin	6.00 hours	213.42
Detmers, Erica	6.00 hours	213.42
Divjak, Leann	6.00 hours	213.42
Dockter, Emily	6.00 hours	213.42
Eucker, Hannah	6.00 hours	213.42
Fugnitti, Madison	6.00 hours	213.42
Ginsberg, Rachel	6.00 hours	213.42
Greig, Anne	6.00 hours	213.42
Grieser, Jennifer	6.00 hours	213.42
Harness, Amanda	6.00 hours	213.42
Harris, Sherry	6.00 hours	213.42
Hawkshaw, Meghan	6.00 hours	213.42
Hays, Robyn	6.00 hours	213.42
Holler, Melinda	6.00 hours	213.42
Hood, Heidi	6.00 hours	213.42
Hummel, Emily	6.00 hours	213.42
Ingram, Cristi	6.00 hours	213.42
Jackson, Ashton	6.00 hours	213.42
Johnson, Kassandra	6.00 hours	213.42
Kent, Jena	6.00 hours	213.42
Kincaid, Jessica	6.00 hours	213.42
Kircher, Megan	6.00 hours	213.42
Lipka, Carrie	6.00 hours	213.42
Liska, Laura	6.00 hours	213.42
Logsdon, Thomas	6.00 hours	213.42
Londrigan, Amanda	6.00 hours	213.42
Love, Brenna	6.00 hours	213.42
Marcum, Stacie	6.00 hours	213.42
Mccord, Sarah	6.00 hours	213.42
Mceuen, Molly	6.00 hours	213.42
Meyer, Heather	6.00 hours	213.42
Miller, Holly	6.00 hours	213.42
Mitchell, Natalie	6.00 hours	213.42

World Cafe Professional Development May 29, 2024, \$35.57 Per Hour, cont.

6.00 hours	213.42
6.00 hours	213.42
4.50 hours	160.07
6.00 hours	213.42
	6.00 hours 6.00 hours 6.00 hours 6.00 hours 4.50 hours 6.00 hours

XCV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELC BBSS SUMMER PLANNING MAY 28, 2024, \$35.57 PER HOUR, 4 HOURS FOR A TOTAL OF \$142.28 EACH: (10-2210-0000-1341-564-3)

Burk, Jennifer Scheffers, Morgan Parker, Grayce Simmons, Sara

XCVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION LINDSAY CO-TEACH PLANNING FEBRUARY 15, 2024 THROUGH MAY 02, 2024, \$35.57 PER HOUR: (10-2210-0000-1341-564-4)

Freer, Jordana	3.50 hours	\$124.50
Johannes, Madison	2.25 hours	80.03
Nelson, Courtney	1.25 hours	44.46

XCVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SRI PROFESSIONAL LEARNING COMMUNITY APRIL 15, 2024, \$35.57 PER HOUR, 2.25 HOURS FOR A TOTAL OF \$80.03 EACH: (10-2210-0000-1341-564-4)

Callahan, Steven

XCVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 29, 2024, \$19.09 PER HOUR, 4 HOURS FOR A TOTAL OF \$76.36: (10-2210-0800-1341-535-4)

Nolte, Erin

XCIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES JUNE 6, 2024, \$19.09 PER HOUR, 5 HOURS FOR A TOTAL OF \$95.45: (10-2210-0800-1341-535-4)

Nolte, Erin

 \mathbf{C} APPROVAL OF THE **FOLLOWING** RECOMMEND **CLASSIFIED** PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL **SCHOOL** IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 14, 2024, \$19.09 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$28.64: (10-2210-0800-1341-535-4)

Nolte, Erin

CI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 09, 2024 THROUGH MAY 09, 2024, \$29.49 PER HOUR, 2 HOURS FOR A TOTAL OF \$58.98: (10-2210-0800-1341-535-4)

Fitzgerald, Vickie

CII **APPROVAL** OF THE **FOLLOWING** RECOMMEND CLASSIFIED **FAIRVIEW** ELEMENTARY **PERSONNEL** FOR SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES MAY 22, 2024, \$19.09 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$28.64: (10-2210-0800-1341-535-4)

Nolte, Erin

CIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 24, 2024, \$16.72 PER HOUR, 1 HOUR FOR A TOTAL OF \$16.72 EACH: (10-2210-2300-1341-531-4)

Gullo, Skylyn

CIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL APTT ACTIVITIES MAY 16, 2024, FOR RATE SPECIFIED: (10-2210-2300-1341-531-4)

Cantrall, Casey	1.25 hours	\$14.24 Per Hour	\$17.80
Gullo, Skylyn	2.50 hours	\$16.72 Per Hour	41.80
Pokora, Jessica	2.50 hours	\$18.10 Per Hour	45.25
Stern, Wende	2.50 hours	\$24.64 Per Hour	61.60
Thompson, Christine	2.50 hours	\$16.72 Per Hour	41.80

CV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL BOOK STUDY ACTIVITIES MAY 17, 2024, \$16.72 PER HOUR, 1 HOUR FOR A TOTAL OF \$16.72 EACH: (10-2210-2300-1341-531-4)

Gullo, Skylyn

Rainey, Breanna

CVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR LANPHIER HIGH SCHOOL BBSS PLANNING ACTIVITIES MAY 31, 2024, \$31.71 PER HOUR, 7 HOURS FOR A TOTAL OF \$221.97: (10-2210-4331-1341-534-4)

Means, Kendall

CVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR LANPHIER HIGH SCHOOL BBSS PLANNING ACTIVITIES MAY 29, 2024, \$31.71 PER HOUR, 7 HOURS FOR A TOTAL OF \$221.97: (10-2210-4331-1341-534-4)

Means, Kendall

CVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES APRIL MEDICAID BILLING ACTIVITIES APRIL 6 THROUGH APRIL 11, 2024, \$45.38 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$68.07: (10-2210-6220-1342-000-0)

Harris, Hirut

CIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES MARCH MEDICAID BILLING ACTIVITIES MARCH 2 THROUGH MARCH 28, 2024, \$45.38 PER HOUR, 3.5 HOURS FOR A TOTAL OF \$158.83: (10-2210-6220-1342-000-0)

Harris, Hirut

CX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES JANUARY MEDICAID BILLING ACTIVITIES JANUARY 2 THROUGH JANUARY 26, 2024, \$45.38 PER HOUR, 3 HOURS FOR A TOTAL OF \$136.14: (10-2210-6220-1342-000-0)

Harris, Hirut

CXI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES DECEMBER MEDICAID BILLING ACTIVITIES DECEMBER 6 THROUGH DECEMBER 21, 2023, \$45.38 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$68.07: (10-2210-6220-1342-000-0)

Harris, Hirut

CXII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES NOVEMBER MEDICAID BILLING ACTIVITIES NOVEMBER 9 THROUGH NOVEMBER 29, 2023, \$45.38 PER HOUR, 3 HOURS FOR A TOTAL OF \$136.14: (10-2210-6220-1342-000-0)

Harris, Hirut

CXIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES SEPTEMBER MEDICAID BILLING ACTIVITIES SEPTEMBER 27 THROUGH SEPTEMBER 30, 2023, \$45.38 PER HOUR, 1 HOUR FOR A TOTAL OF \$45.38: (10-2210-6220-1342-000-0)

Harris, Hirut

CXIV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES MAY MEDICAID BILLING ACTIVITIES MAY 3 THROUGH MAY 24, 2024, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Blakley, Jennifer	2.00 hours	\$45.39 Per Hour	\$90.78
Harris, Hirut	5.00 hours	\$45.38 Per Hour	226.90
Jose, Bethany	1.75 hours	\$34.00 Per Hour	59.50

CXV RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION DOUGLAS SUMMER ILT PLANNING JUNE 6, 2024, \$24.65 PER HOUR, 3 HOURS FOR A TOTAL OF \$73.95: (10-2210-0000-1341-564-4)

Boggs, Stacia

CXVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION ANNUAL DATA REVIEW MAY 30, 2024, FOR RATE SPECIFIED: (10-2210-0000-1341-564-4)

Boggs, Stacia	6.00 hours	\$24.65 Per Hour	\$147.90
Morris, Michelle	6.00 hours	\$37.95 Per Hour	227.70